ONLLND3r3 T¥O0A
73407 Y1S0pA2ISSa

mu:mE_m% mm:m

"SELUSIW SE| 81405 0[2} U UQIoB.e[oap jainbjend ap epeauap pepliqesuodsal e soliinse OUSIISE £ ° mmEm_E se| ap umu_um‘_g.aﬁ

ch ‘eqnoely ap oidiiunjy [3p Sopeynsal soj ojk UGISEN)IS B B Sjuala)

UQIDBLLIOUI B] BPC) UBUBNU0D A SB0BIAA UOS ..w_m_ucm:__ 0pEjSa 9}59 Ua SEpPIuajteTSENa se| anb SOLWele[ap pepiaa Jioap op ejsejoid oleg

0g'lzL'0eL' L9 99'50Z' L2v'9Y 59'9€0'202°LL 95'625'€2E 05 98'/9b' 1260 G/ 798'68Y ¥ (z+1=¢) sosaib3 op opejnsay (ap €10] '€
000 000 000 000 000 000 £2|90d Bpnag |
0y €9v'2LL 000 62'6/8'665 000 000 ~ Jooo sauojoepiody 4 sauoedianed H
000 000 000 000 000 00°0 SBUOISINDI SEJIQ) A SesBlouelly SaUOISIaAU| D)
L9'L6Y 04101 000 T IZL PO 000 000 000 E9I|qNd UQISIaAY| “4
00Z£8'86 00'000'162 000 000 000 000 sejqibueju) @ seigeniuu| ‘se|qanyy seualg g
000 000 000 000 000 000 sepnhy sexjo A solpisqng ‘sauoieubisy 'seiouaiajsuel) 'q
98'EE0'GL8'L 710559499 0L'B0LLL6'S 000 000 000 S3{eIBUBY) SOIINBS D
71 LISBL8'L LGERO'EELE 9 17'S5E'2 000 000 000 sonsiuiwng A safelisiep g
00'625°LYE'E 00'€0E'S00'E 6Z'650'056°2 000 000 000 S[BLIOSIa] SOIINSS 'Y
VO'EZ6'2L0'FE G9'068°G0L 24 0£218'198'22 000 000 000 (FH+©+ 4+ 30+ O+8+Y=Z) OPEIANDIT 0ISED 7
000 000 000 000 0996181 000 ealand epnag |
000 $0'8£9'€5L ZL1SG YLy 00'6v2'266 00°000'002 000 sauoepody A sauopedioled H
000 000 000 000 000 000 SBUOISINDIG SEAQ) A SRIBIDUBUL SAUDISIBAU| ‘D)
61815'L22'L 00'00%'GL 00'182'919'}1 ¥8'951'EE6'01 Z6'8LL66L'G v1'20.°6/8'8L BI)|qd UQISIaAU] ‘4
007Z12'26F G9'20L'2ES 6v'282'C6S 766’8911 £0'SEE'TES 95°€51'89€ saqibueju) 8 sejganiuu] ‘ss|ganjy sausig 3
ZE12R'2EY'E 99°',00'142'E L1BE0'LT'E L¥'591'680Z 06'GE0YLL'L 11°Gr1'989'Z sepniy senQ A soipisqns ‘seuoieudisy ‘selualajsuel] 'Q
6. 7/87TLLL LOOvL'ERY'L 09984 vAF'9 05Z16'122EL 66'G69'£9¢'04 £8498'£46'0L S3{eIBUBY) SOINBS ')
G.766'292'9 S0'878°155'Y 61 219°B19'Y VS ZVE'6IS'E ~ [BLBEB'OLO'E 54796'G68'E ng A sejeuzien g
V2 LIEOrYBL 00'991'529'21  neesost SE8Y9'B6EBL  |eg9zszizel 0£9202.9'L1 ; "~ sBjEUOSIad SORIIES Y
62'96L TH0'EY LO'BOE'LZE'VE 56622 0VE'SY 95°'675'¢2€'0S 98'L0'126'0 51298'68%'vS (F-H+O+3+3+Q+D+B+y=|.) Opejanbid oy 0jse9 |

0202 30 FMEW3IL3S 30 0¢ V1A T (407) SOSTH93 30 0avV.LINSTY

Z¥IN-L0L0S8-TYIN

"09H 'YENIVrY 30 OldIDINNIN

YEADVIY 30 OIDINAW 130

ONRIIEINI TVIDINAW GF3IONOD

oBjepiH #p
ourlaqos A wign opTisy




